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12__3945646565__7$___8:; ___

<4$+=>?@ABC

"!+,-.-,//!/01-,-,/2!+!.3.45+!"67-.4+-,,32!85954:!;3<3=.>3;3!3><?;5!@5<-A,:2B!?4+-<C=-,,:2!
83.45,3+9-,/-1!D95+:!;3<3=.>3;3!3><?;5!@5<-A,:2!34!EFGEHGIHEJ!K!EEHL D

#$D112E?2D2EFF$D$;1G1H?AF?I$1J$%JK?D2E?AA1C$L=G=2?$<1>1MDN1<1$1N>O<=$+=>?@ABCP$O2E?>HM?AABI$>?Q?AF?I$
'OIB$<1>1MDN1<1$1N>O<=$+=>?@ABC$12$6R45S4653R$7$TR:&P$LFDUI1I$%JK?D2E?AA1C$L=G=2B$<1>1MDN1<1$1N>O<=$+=>?@ABC$
12$5T45646565$7$%;$ %+$S:3VRP$A=$1DA1E=AFF$D24$6W$*D2=E=$<1>1MDN1<1$1N>O<=$+=>?@ABC
 "#$%&"'(MNO

34$#A?D2F$E$D1D2=E$%JK?D2E?AA1C$L=G=2B$<1>1MDN1<1$1N>O<=$+=>?@ABCP$O2E?>HM?AABC$L1D2=A1EG?AF?I$ G=EB$
<1>1MDN1<1$1N>O<=$+=>?@ABC$12$3T4354653W$7$335:; P$DG?MOXKF?$FYI?A?AFZ[

3\$FDNGX@F2U$FY$D1D2=E=$%JK?D2E?AA1C$L=G=2B$<1>1MDN1<1$1N>O<=$+=>?@ABC$@?2E?>21<1$D1YBE=$.?E1D2>O?EO$
.=2=GUX$!?1AFM1EAO]

6\$ENGX@F2U$E$D1D2=E$%JK?D2E?AA1C$L=G=2B$<1>1MDN1<1$1N>O<=$+=>?@ABC$@?2E?>21<1$D1YBE=$&ZY=A1EO$^GFX$
`Fa=CG1EAO4

64$%LOJGFN1E=2U$A=D21ZK??$L1D2=A1EG?AF?$E$bXGG?2?A?$1cFdF=GUABa$M1NOI?A21E$<1>1MDN1<1$1N>O<=$+=>?@ABC$
F$A=$1cFdF=GUA1I$D=C2?$<1>1MDN1<1$1N>O<=$+=>?@ABC$ewww4gorof:zhrijkny4ru\4

 G=E=
<1>1MDN1<1$1N>O<=$+=>?@ABC$ $$$$$$$$$$$$$$$$$$"4#4$+=a=>d?E
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 !"!#!$!%!&!"!'!(!)!&!*!)

12____3W45646565____$$7$$___3ST:;____

<4$+=>?@ABC

"6!?4+-<C=-,//!895,5!1-<38</P4/2B!8</?<3A-,,:Q!>!'.-1/<,31?!=,R!057/4:!8<5+!834<-6/4-9-2B
,5!4-<</43<//!;3<3=.>3;3!3><?;5!@5<-A,:2!+!IHIH!;3=?

#$ D112E?2D2EFF$ D$ +=N1A1I$ &1DDFCDN1C$ x?M?>=dFF$ 12$ 5R$ c?E>=GZ$ 3996$ <1M=$ 7$ 6p55:3$ «%$ Y=KF2?$ L>=E$
L12>?JF2?G?C»P$x?M?>=GUABI$Y=N1A1I$12$5T$1N2ZJ>Z$655p$<1M=$7$3p3:x+$«%J$1JKFa$L>FAdFL=a$1><=AFY=dFF$I?D2A1<1$
D=I1OL>=EG?AFZ$E$&1DDFCDN1C$x?M?>=dFF»P$L1D2=A1EG?AF?I$=MIFAFD2>=dFF$<1>1MDN1<1$1N>O<=$+=>?@ABC$12$3W43646539$
7$369T:;$«%J$O2E?>HM?AFF$)1ILG?NDA1<1$LG=A=$I?>1L>FZ2FC$L1$Y=KF2?$L>=E$L12>?JF2?G?C$A=$2?>>F21>FF$<1>1MDN1<1$
1N>O<=$+=>?@ABC$A=$6539$:$656S$<1MB»P$E$DEZYF$D$L>=YMA1E=AF?I$#D?IF>A1<1$MAZ$Y=KF2B$L>=E$L12>?JF2?G?CP$A=$1DA1E=AFF$
D24$D24$6WP$p3$*D2=E=$<1>1MDN1<1$1N>O<=$+=>?@ABC$=MIFAFD2>=dFZ$<1>1MDN1<1$1N>O<=$+=>?@ABC
 "#$%&"'(M)$O

34$*2E?>MF2U$LG=A$I?>1L>FZ2FCP$L>FO>1@?AABa$N$#D?IF>A1IO$MAX$Y=KF2B$L>=E$L12>?JF2?G?CP$A=$2?>>F21>FF$
<1>1MDN1<1$1N>O<=$+=>?@ABC$E$6565$<1MO$eL>FG=<=?2DZ\4

64$)1A2>1GU$Y=$FDL1GA?AF?I$A=D21ZK?<1$L1D2=A1EG?AFZ$1D2=EGZX$Y=$D1J1C4
p4$%LOJGFN1E=2U$A=D21ZK??$L1D2=A1EG?AF?$E$bXGG?2?A?$1cFdF=GUABa$M1NOI?A21E$<1>1MDN1<1$1N>O<=$+=>?@ABC$

F$>=YI?D2F2U$A=$1cFdF=GUA1I$D=C2?$<1>1MDN1<1$1N>O<=$+=>?@ABC$ewww4gorof:zhrijkny4ru\4

 G=E=
<1>1MDN1<1$1N>O<=$+=>?@ABC

$$$$$$$$$$$$$$$$$$$
$$$$$$$$$$$$$$$$$$"4#4$+=a=>d?E
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*{#,&l',.
L1D2=A1EG?AF?I$=MIFAFD2>=dFF
<1>1MDN1<1$1N>O<=$+=>?@ABC
12$__3W45646565___7$___3ST:;___
«%J$O2E?>HM?AFF$LG=A=$I?>1L>FZ2FCP$
L>FO>1@?AABa$N$#D?IF>A1IO$MAX$Y=KF2B$L>=E$
L12>?JF2?G?CP$A=$2?>>F21>FF$<1>1MDN1<1$1N>O<=$
+=>?@ABC$E$6565$<1MO»

 !(%&
1-<38</P4/2B!8</?<3A-,,:Q!>!'.-1/<,31?!=,R!057/4:!8<5+!834<-6/4-9-2B

,5!4-<</43<//!;3<3=.>3;3!3><?;5!@5<-A,:2!+!IHIH!;3=?

�
LVL

.=FI?A1E=AF?$I?>1L>FZ2FZ (>1N$FDL1GA?AFZ %2E?2D2E?AABC$FDL1GAF2?GU

34$ &=YI?K?AF?$L>?DD:>?GFY=$1$#D?IF>A1I$
MA?$Y=KF2B$L>=E$L12>?JF2?G?C$F$1$M?EFY?$
6565$<1M=$«+=$12E?2D2E?AA1?$L12>?JG?AF?»$
A=$1cFdF=GUA1I$D=C2?$<1>1MDN1<1$1N>O<=$
+=>?@ABC$ewww4gorof:zhrijkny4ru\

N$38$I=>2= 12M?G$L1$Y=KF2?$L>=E$L12>?JF2?G?C]$
FAc1>I=dF1AA1$�$=A=GF2F@?DNFC$
12M?G$=MIFAFD2>=dFF$<1>1MDN1<1$
1N>O<=$+=>?@ABC

64 &=YI?K?AF?$A=$1cFdF=GUA1I$D=C2?$
<1>1MDN1<1$1N>O<=$+=>?@ABC$LG=A=$
I?>1L>FZ2FCP$L>FO>1@?AABa$N$L>=YMA1E=AFX$
#D?IF>A1<1$MAZ$Y=KF2B$L>=E$L12>?JF2?G?C$
ewww4gorof:zhrijkny4ru\

N$38$I=>2= 12M?G$L1$Y=KF2?$L>=E$L12>?JF2?G?C]
FAc1>I=dF1AA1$:$=A=GF2F@?DNFC$
12M?G$=MIFAFD2>=dFF$<1>1MDN1<1$
1N>O<=$+=>?@ABC

p4 &=YI?K?AF?$FAc1>I=dF1AABa$I=2?>F=G1E$
N$L>=YMA1E=AFX$#D?IF>A1<1$MAZ$Y=KF2B$
L>=E$L12>?JF2?G?C$L1$M?EFYO$6565$<1M=$«+=$
12E?2D2E?AA1?$L12>?JG?AF?»$A=$D2?AM=a$E$
YM=AFF$=MIFAFD2>=dFF$

N$38$I=>2= 12M?G$L1$Y=KF2?$L>=E$L12>?JF2?G?C

S4 %><=AFY=dFZ$«N>O<G1<1$D21G=»$D$
X>FMF@?DNFIF$GFd=IF$F$D$FAMFEFMO=GUABIF$
L>?ML>FAFI=2?GZIF$A=$2?IO[$«+=$
12E?2D2E?AA1?$L12>?JG?AF?»

I=>2 12M?G$L1$Y=KF2?$L>=E$L12>?JF2?G?C

84$ )1ADOGU2F>1E=AF?$<>=HM=A$F$1JDOHM?AF?$D$
AFIF$2?IB$«+=$12E?2D2E?AA1?$L12>?JG?AF?»

I=>2 12M?G$L1$Y=KF2?$L>=E$L12>?JF2?G?C

T4$ &=YI?K?AF?$A=$1cFdF=GUA1I$D=C2?$
<1>1MDN1<1$1N>O<=$+=>?@ABC$FAc1>I=dFF$
1$>=J12?$2?G?c1A=$«<1>Z@?C$GFAFF»$W$
epSpRR\$p:68:p9P$«MA?C$12N>B2Ba$ME?>?C»$
L1$E1L>1D=I$Y=KF2B$L>=E$L12>?JF2?G?C]$
1><=AFY=dFF$F$1J?DL?@?AFX$L>1E1MFIBa$
I?>1L>FZ2FC

N$38$I=>2= 12M?G$L1$Y=KF2?$L>=E$L12>?JF2?G?C]
FAc1>I=dF1AA1$�$=A=GF2F@?DNFC$
12M?G$=MIFAFD2>=dFF$<1>1MDN1<1$
1N>O<=$+=>?@ABC

R4 #BLODN$D2=2UFP$L>FO>1@?AA1C$N$L>=YMAF@A1C$
M=2?$38$I=>2=$6565$<1M=

N$38$I=>2= 12M?G$L1$Y=KF2?$L>=E$L12>?JF2?G?C

W4 &=DL>1D2>=A?AF?$FAc1>I=dF1AABa$
I=2?>F=G1E$eL=IZ21NP$JONG?21E\$L1$E1L>1D=I$
YM1>1E1<1$LF2=AFZP$«+=$12E?2D2E?AA1?$
L12>?JG?AF?»

I=>2 12M?G$L1$Y=KF2?$L>=E$L12>?JF2?G?C

94 #BLODN$J>1QX>B$«;1A?IA1<O$1J1$ED?I4$
 =Y?2ABC$M=CMH?D2$MGZ$L12>?JF2?G?C»$
F$>=YI?K?AF?$??$sG?N2>1AA1C$E?>DFF$A=$
1cFdF=GUA1I$D=C2?$<1>1MDN1<1$1N>O<=$
+=>?@ABC$ewww4gorof:zhrijkny4ru\

3$NE=>2=G 12M?G$L1$Y=KF2?$L>=E$L12>?JF2?G?C]
FAc1>I=dF1AA1$�$=A=GF2F@?DNFC$
12M?G$=MIFAFD2>=dFF$<1>1MDN1<1$
1N>O<=$+=>?@ABC

354 ;>1E?M?AF?$=AN?2F>1E=AFZ$D$d?GUX$FYO@?AFZ$
1JK?D2E?AA1<1$IA?AFZ$D>?MF$L12>?JF2?G?C$F$
L>?ML>FAFI=2?G?C

I=>2 12M?G$L1$Y=KF2?$L>=E$L12>?JF2?G?C
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<4$+=>?@ABC

"!8<3+-=-,//!;3<3=.>3;3!>3,>?<.5!.<-=/!V<?C/,!R,:Q!83C5<,:Q!36<503+54-9T,:Q!?A<-C=-,/2!;3<3=.>3;3!
3><?;5!@5<-A,:2

#$d?GZa$c1>IF>1E=AFZ$1JK?D2E?AA1<1$D1YA=AFZ$F$<>=HM=ADN1C$L1YFdFF$L1M>=D2=XK?<1$L1N1G?AFZ$E$1JG=D2F$
L1H=>A1C$ J?Y1L=DA1D2FP$ D1YM=AFZ$ JG=<1L>FZ2ABa$ ODG1EFC$ MGZ$ 2E1>@?DN1C$ D=I1>?=GFY=dFFP$ =M=L2=dFF$ O@=KFaDZP$
>=YEF2FZ$ 2E1>@?DN1<1$ L12?AdF=G=$ N=HM1<1$ O@=K?<1DZP$ E$ D112E?2D2EFF$ D$ )1ILG?NDABI$ I?HE?M1ID2E?AABI$ LG=A1I$
Y=FA2?>?D1E=AABa$1><=AFY=dFC$F$ E?M1ID2E$L1$L>1cFG=N2FN?$ <FJ?GF$F$ 2>=EI=2FYI=$M?2?C$L>F$L1H=>=a$A=$ 6565$ <1MP$
O2E?>HM?AABI$ `FAFD2>1I$ 1JK?<1$ F$ L>1c?DDF1A=GUA1<1$ 1J>=Y1E=AFZ$ (E?>MG1EDN1C$ 1JG=D2FP$ L1D2=A1EG?AF?I$
=MIFAFD2>=dFF$ <1>1MDN1<1$ 1N>O<=$ +=>?@ABC$ 12$ 6W43346539$7$ 365S:;$ «%J$ O2E?>HM?AFF$IOAFdFL=GUA1C$ L>1<>=IIB$
«%J?DL?@?AF?$J?Y1L=DA1D2F$HFYA?M?Z2?GUA1D2F$A=D?G?AFZ$A=$2?>>F21>FF$<1>1MDN1<1$1N>O<=$+=>?@ABC$M1$656S$<1M=»P$A=$
1DA1E=AFF$D24$D24$6WP$p3$*D2=E=$<1>1MDN1<1$1N>O<=$+=>?@ABC$=MIFAFD2>=dFZ$<1>1MDN1<1$1N>O<=$+=>?@ABC
 "#$%&"'(M)$O

34$ *2E?>MF2U$;1G1H?AF?$1$L>1E?M?AFF$<1>1MDN1<1$N1ANO>D=$D>?MF$'>OHFA$XABa$L1H=>ABa$1J>=Y1E=2?GUABa$
O@>?HM?AFC$<1>1MDN1<1$1N>O<=$+=>?@ABC$eM=G??$:$)1ANO>D\$eL>FG=<=?2DZ\4

64$ *2E?>MF2U$D1D2=E$1><=AFY=dF1AA1<1$N1IF2?2=$L1$L>1E?M?AFX$)1ANO>D=$eL>FG=<=?2DZ\4
p4$ ;>1E?D2F$)1ANO>D$6T$I=>2=$6565$<1M=$E$=N21E1I$Y=G?$̀ b�*$'%$ %$+=>?@ABC$«|'{»$L1$=M>?DO[$<4$+=>?@ABCP$

OG4$%D2>1EDN1<1P$M4$T4
S4$ *2E?>MF2U$ DI?2O$ >=Da1M1E$ A=$ L>1E?M?AF?$ )1ANO>D=$ E$ DOII?$ 35$ 555$ eM?DZ2U$ 2BDZ@\$ >OJG?C$ 55$ N1L??N$

eL>FG=<=?2DZ\4
84$ xFA=AD1E1IO$ OL>=EG?AFX$ =MIFAFD2>=dFF$ <1>1MDN1<1$ 1N>O<=$ +=>?@ABC$ e%4 4$ (1DA1E=\$ 1DOK?D2EF2U$

cFA=ADF>1E=AF?$)1ANO>D=$E$L>?M?G=aP$O2E?>HM?AABa$!b%$L1$b)$5p35$5W656655556SS$A=$DOIIO$35$555$eM?DZ2U$2BDZ@\$
>OJG?C4

T4$ )1A2>1GU$Y=$FDL1GA?AF?I$A=D21ZK?<1$L1D2=A1EG?AFZ$E1YG1HF2U$A=$L?>E1<1$Y=I?D2F2?GZ$<G=EB$=MIFAFD2>=dFF$
<1>1MDN1<1$1N>O<=$+=>?@ABC$%4;4$)F>FGG1E=4

R4$ %LOJGFN1E=2U$A=D21ZK??$L1D2=A1EG?AF?$E$bXGG?2?A?$1cFdF=GUABa$M1NOI?A21E$<1>1MDN1<1$1N>O<=$+=>?@ABC$
F$A=$1cFdF=GUA1I$D=C2?$<1>1MDN1<1$1N>O<=$+=>?@ABC$ewww4gorof:zhrijkny4ru\4$

$ G=E=

<1>1MDN1<1$1N>O<=$+=>?@ABC

$$$$$$$$$$$$$$$$$
$$$$$$$$$$$$$$$$$$$"4#4$+=a=>d?E
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*{#,&l',.�$$$$$
L1D2=A1EG?AF?I$=MIFAFD2>=dFF$$$$
<1>1MDN1<1$1N>O<=$+=>?@ABC$$$$
12$__3W45646565__$7$__3SR:;__
«%$L>1E?M?AFF$<1>1MDN1<1$N1ANO>D=$
D>?MF$'>OHFA$XABa$L1H=>ABa$
1J>=Y1E=2?GUABa$O@>?HM?AFC$$$$
<1>1MDN1<1$1N>O<=$+=>?@ABC»

 "("[)&*)
3!;3<3=.>31!>3,>?<.-!.<-=/!V<?C/,!R,:Q!83C5<,:Q!36<503+54-9T,:Q!?A<-C=-,/2!

;3<3=.>3;3!3><?;5!@5<-A,:2

1. "67/-!8393C-,/P
3434$|?GU$N1ANO>D=[
3\$D1YM=AF?$ODG1EFC$MGZ$2E1>@?DN1C$D=I1>?=GFY=dFF$O@=KFaDZP$D1E?>Q?AD2E1E=AF?$DFD2?IB$1JO@?AFZ$1DA1E=I$

J?Y1L=DA1D2F$HFYA?M?Z2?GUA1D2F]
6\$ c1>IF>1E=AF?$ O$ L1M>=D2=XK?<1$ L1N1G?AFZ$ <>=HM=ADN1C$ L1YFdFF$ E$ 1JG=D2F$ 1J?DL?@?AFZ$ L1H=>A1C$

J?Y1L=DA1D2F4
3464$+=M=@F$N1ANO>D=[
3\$>=YEF2F?$F$L1LOGZ>FY=dFZ$MEFH?AFZ$XABa$L1H=>ABa]
6\$EBZEG?AF?P$FYO@?AF?$F$>=DL>1D2>=A?AF?$A?2>=MFdF1AABa$c1>I$F$I?21M1E$L>1L=<=AMB$L1H=>ABa$YA=AFC]
p\$D2FIOGF>1E=AF?$M?Z2?GUA1D2F$XABa$L1H=>ABa]
S\$L>FEF2F?$M?2ZI$A=EBN1E$1D21>1HA1<1$1J>=K?AFZ$D$1<A?I4

IG! 3<P=3>!8<3+-=-,/P!\3,>?<.5
3\$N1ANO>D$L>1E1MF2DZ$eL>?ME=>F2?GUA1\$6T$I=>2=$6565$<1M=$E$`b%*$'%$ %$+=>?@ABC$«|'{»$E$38455$@=D1E]
6\$O@=D2F?$L>FAFI=X2$M>OHFAB$XABa$L1H=>ABa$1J>=Y1E=2?GUABa$O@>?HM?AFC$<1>1MDN1<1$1N>O<=$+=>?@ABC$D$

8$L1$W$NG=DDB]
p\$N1GF@?D2E1$O@=D2AFN1E$�$W$@?G1E?N$�$>ON1E1MF2?GU4

]G!Y.93+/P!\3,>?<.5
3\$MGZ$O@=D2FZ$A?1Ja1MFI1$L>?M1D2=EF2U$E$`b%*$'%$ %$+=>?@ABC$«|'{»$Y=$A?M?GX$M1$EBD2OLG?AFZ[
:$DLFD1N$@G?A1E$'^;P$A=YE=AF?$M>OHFABP$M?EFY]
:$x4m4%4$>ON1E1MF2?GZ]
:$Dd?A=>FC$EBD2OLG?AFZ$�$M1I=QA??$Y=M=AF?]
:$LG=A$>=J12B$A=$6565$O@?JABC$<1M]
:$12@�2$1$>=J12?$'^;$Y=$3$NE=>2=G$6565$<1M=4
;>F$L1ME?M?AFF$F21<1E$O@F2BE=X2DZ[$c1>I=P$sIJG?I=P$cG=<Q21NP$A=YE=AF?$F$M?EFY$M>OHFAB4
6\$E$L>1<>=IIO$N1ANO>D=$I1<O2$Ea1MF2U[
:$EFN21>FA=$A=$YA=AF?$L>=EFG$L1H=>A1C$J?Y1L=DA1D2F]
:$EFN21>FA=$A=$YA=AF?$FD21>FF$L1H=>A1C$1a>=AB]
:$I?MFdFADN=Z$L1I1KU$L1D2>=M=EQ?IO$L>F$L1H=>?]
:$A=M?E=AF?$J1?E1C$1M?HMB$L1H=>A1<1]
:$sG?I?A2B$L1H=>A1:DL=D=2?GUA1<1$DL1>2=4

^G!\315,=:!�!?A5.4,/>/!\3,>?<.5!;343+P4!=9P!+:.4?89-,/P
S434${E1>@?DN1?$EBD2OLG?AF?$�!EFYF2A=Z$N=>21@N=$'^;$D$L>?Y?A2=dF?CP$>=DN>BE=XKF?$D1M?>H=AF?$MEFH?AFZ$
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L?>F1MB$GFJ1$A=$M>O<F?$<1DOM=>D2E?AAB?$L>1<>=IIB

cG! W?,/S/859T,5P!8<3;<5115!«X50+/4/-!U/0/A-.>32!>?9T4?<:B!.83<45!/!1393=-C,32!839/4/>/!+!
;3<3=.>31!3><?;-!@5<-A,:2!=3!IHI^!;3=5»

%2E?2D2E?AABC$Y=$FDL1GA?AF?$I?>1L>FZ2FC$L>1<>=IIB$�$A=@=GUAFN$`)*$«*)P$($F$`;$ %$+=>?@ABC»4
#$6539$<1MO$N1GF@?D2E1$HF2?G?CP$DFD2?I=2F@?DNF$Y=AFI=XKFaDZ$cFYF@?DN1C$NOGU2O>1C$F$DL1>21IP$D1D2=EFG1$

36SS5$@?G1E?N4$$
)1GF@?D2E1$cFYNOGU2O>A1:1YM1>1EF2?GUABa$F$DL1>2FEA1:I=DD1EBa$I?>1L>FZ2FCP$L>1E?M?AABa$A=$2?>>F21>FF$

<1>1MDN1<1$1N>O<=$D1D2=EFG1$T5$I?>1L>FZ2FC4
p9$L>1d?A21E$HF2?G?C$ <1>1MDN1<1$1N>O<=$+=>?@ABC$DFD2?I=2F@?DNF$ Y=AFI=XKFaDZ$cFYF@?DN1C$NOGU2O>1C$F$

DL1>21I4
"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$5PRW �6$�$3Pp
%d?AN=$:$p4$(>?MAFC$O>1E?AU$scc?N2FEA1D2F$IOAFdFL=GUA1C$

L>1<>=IIB4

.?L1GA1?$
cFA=ADF>1E=AF?

D>?MAZZ$>?YOGU2=2FEA1D2U
eL?>?EBL1GA?AF?$LG=A=\

#1YI1H?A$L?>?DI12>$IOAFdFL=GUA1C$L>1<>=IIB$E$@=D2F$
FYI?A?AFZ$d?G?EBa$L1N=Y=2?G?CP$EBDE1J1HM?AFZ$>?DO>D1E$

F$L?>?A1D$Fa$A=$DG?MOXKF?$L?>F1MB$FGF$A=$M>O<F?$
IOAFdFL=GUAB?$L>1<>=IIB
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JG! W?,/S/859T,5P! 8<3;<5115! «"6-.8-A-,/-! 6-0385.,3.4/! C/0,-=-P4-9T,3.4/! ,5.-9-,/P! ,5!
4-<</43<//!;3<3=.>3;3!3><?;5!@5<-A,:2»!,5!IHEF!�!IHII!;3=:»

%2E?2D2E?AABC$ Y=$ FDL1GA?AF?$I?>1L>FZ2FC$L>1<>=IIB$�$A=@=GUAFN$`)*$ %!+=>?@ABC$«*L>=EG?AF?$ %$F$
-(»4

'GZ$ M1D2FH?AFZ$ L1D2=EG?AABa$ Y=M=@P$ L>?MODI12>?AABa$ IOAFdFL=GUA1C$ L>1<>=II1C$ L1$ 1><=AFY=dFF$ F$
1DOK?D2EG?AFX$I?>1L>FZ2FC$ L1$ <>=HM=ADN1C$ 1J1>1A?P$ Y=KF2?$ A=D?G?AFZ$ 12$ @>?YEB@=CABa$ DF2O=dFC$ L>F>1MA1<1$ F$
2?aA1<?AA1<1$a=>=N2?>=P$L1$1><=AFY=dFF$1JO@?AFZ$A=D?G?AFZ$I?>=I$L1H=>A1C$J?Y1L=DA1D2F$F$L>1L=<=AM?$E$1JG=D2F$
L1H=>A1C$J?Y1L=DA1D2FP$EBL1GA?AB$DG?MOXKF?$I?>1L>FZ2FZ[

1. ;1MM?>H=AF?$E$D1D21ZAFF$L1D21ZAA1C$<121EA1D2F$N$FDL1GUY1E=AFX$DFD2?I$1L1E?K?AFZ$A=D?G?AFZ$1J$
1L=DA1D2Za4

2. #$d?GZa$1J?DL?@?AFZ$L>F?I=$F$L?>?M=@F$FAc1>I=dFF$D$EBQ?D21ZKFIFP$EY=FI1M?CD2EOXKFIF$1><=A=IF$
OL>=EG?AFZP$E$,''($ %$+=>?@ABC$OD2=A1EG?A=$EFM?1N=I?>=$F$DFD2?I=$121J>=H?AFZ$FAc1>I=dFF4

3. #$ d?GZa$ EBL1GA?AFZ$ I?>1L>FZ2FZ$ L1$ 1J?DL?@?AFX$ L>12FE1L1H=>A1C$ Y=KF2B$ I?D2$ L>1HFE=AFZ$
I=G11J?DL?@?AABaP$D1dF=GUA1$:$A?=M=L2F>1E=AABa$F$I=G1I1JFGUABa$<>OLL$A=D?G?AFZ$I?21M1I$L>FI?A?AFZ$D1E>?I?AABa$
D>?MD2E$1JA=>OH?AFZ$F$1L1E?K?AFZ$1$L1H=>?P$L>1FYE?M?A=$OD2=A1EN=$p5$=E21A1IABa$L1H=>ABa$FYE?K=2?G?C$D$���:
I1MOG?I$E$HFGBa$L1I?K?AFZa$<4$+=>?@ABC4

4. 'GZ$J?DL?>?J1CA1<1$1J?DL?@?AFZ$N=@?D2E=$L1GO@?AFZ$FYE?K?AFC$1$L1H=>A1C$2>?E1<?$D$IOAFdFL=GUABa$
1Jq?N21E$ <1>1MDN1<1$ 1N>O<=$ +=>?@ABC$ A=$ ;|.$ ,''($  %$ +=>?@ABC$ L>1FYE?M?A=$ OD2=A1EN=$ 2>?a$ N1ILG?N21E$
>?2>=ADGZ21>1E$E$>=MF1D?2U$(;m$«%)%»4

5. #$ >=IN=a$ I?>1L>FZ2FZ$ L1$ D1YM=AFXP$ E$ d?GZa$ L1H=>12OQ?AFZP$ ODG1EFC$ MGZ$ Y=J1>=$ E1MB$ E$ GXJ1?$
E>?IZ$ <1M=$ FY$ FD21@AFN1E$ A=>OHA1<1$ E1M1DA=JH?AFZP$ OD2=A1EG?AB$ ME?$ LG1K=MNF$ MGZ$ Y=J1>=$ E1MB$FY$ ?D2?D2E?AABa$
E1M1FD21@AFN1E$eM4$b1Z>N=P$M4$)O>I=AN=\$F$1MFA$<1>FY1A2=GUABC$>?Y?>EO=>$a>=A?AFZ$E1MB$eM4$ =<=>N=\$4

6. #$d?GZa$c1>IF>1E=AFZ$1JK?D2E?AA1<1$D1YA=AFZ$F$<>=HM=ADN1C$L1YFdFF$L1M>=D2=XK?<1$L1N1G?AFZ$E$
1JG=D2F$L1H=>A1C$J?Y1L=DA1D2FP$L>FEF2FZ$M?2ZI$A=EBN1E$1D21>1HA1<1$1J>=K?AFZ$D$1<A?IP$E$D112E?2D2EFF$D$N1ILG?NDABI$
I?HE?M1ID2E?AABI$LG=A1I$Y=FA2?>?D1E=AABa$1><=AFY=dFC$F$E?M1ID2E$L1$L>?MOL>?HM?AFX$<FJ?GF$F$2>=EI=2FYI=$M?2?C$
L>F$L1H=>=a$A=$6539$<1MP$L>1E?M?AB$<1>1MDNF?$N1ANO>DB$D>?MF$'>OHFA$XABa$L1H=>ABa$1J>=Y1E=2?GUABa$O@>?HM?AFC$
 %$+=>?@ABC$F$M?2DN1<1$2E1>@?D2E=$«.?1L=GFI=Z$NOLFA=»4$#$N1ANO>D?$L>FAZGF$O@=D2F?$T$M>OHFA$XABa$L1H=>ABa4$'GZ$
A=<>=HM?AFZ$L1J?MF2?G?C$$JBGF$L>F1J>?2?AB$L>FYB4

7. #$ d?GZa$ EBL1GA?AFZ$ 2>?J1E=AFC$ %><=AFY=dF1AA1:I?21MF@?DNFa$ ON=Y=AFC$ L1$ L1M<121EN?$ 1><=A1E$
OL>=EG?AFZP$DFG$<>=HM=ADN1C$1J1>1AB$ %$+=>?@ABC$F$<1>1MDN1<1$YE?A=$(E?>MG1EDN1C$1JG=D2A1C$L1MDFD2?IB$?MFA1C$
<1DOM=>D2E?AA1C$ DFD2?IB$ L>?MOL>?HM?AFZ$ F$ GFNEFM=dFF$ @>?YEB@=CABa$ DF2O=dFC$ A=$ 6539$ <1MP$ L>1E?M?A$ DG?2:
D1>?EA1E=AF?$«�N1G=$J?Y1L=DA1D2F»4

"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$5P9W �6$�$3
%d?AN=$:$84$#BD1NFC$O>1E?AU$scc?N2FEA1D2F$IOAFdFL=GUA1C$

L>1<>=IIB4

;1GA1?$
cFA=ADF>1E=AF?

#BD1N=Z$
>?YOGU2=2FEA1D2U

bG! W?,/S/859T,5P!8<3;<5115!« <3U/95>4/>5!8<5+3,5<?Z-,/2!,5!4-<</43<//!;3<3=.>3;3!3><?;5!
@5<-A,:2»

%2E?2D2E?AABC$Y=$FDL1GA?AF?$I?>1L>FZ2FC$L>1<>=IIB$�$A=@=GUAFN$1><=AFY=dF1AA1<1$12M?G=$=MIFAFD2>=dFF$
<1>1MDN1<1$1N>O<=$+=>?@ABC4

#$653W$<1MO$1DOK?D2EG?A1$L>1E?M?AF?$>?CM1E$F$L>1cFG=N2F@?DNFa$I?>1L>FZ2FCP$>=DDI12>?AF?$>1MF2?GUDNFa$
D1J>=AFZa$ E1L>1D1E$ L>1cFG=N2FNF$ L>=E1A=>OQ?AFC$ D>?MF$ O@=KFaDZ$ (%�$ eA=$ L1D21ZAA1C$ 1DA1E?\4$ ;>1L=<=AM=$
YM1>1E1<1$1J>=Y=$HFYAFP$>=DQF>?AF?$EA?NG=DDA1C$Y=AZ21D2F$I1G1M?HF4

;>FEG?@?AF?$ @G?A1E$`%%$ «'.'$  %$ +=>?@ABC$(E?>MG1EDN1C$ 1JG=D2F»$ N$ 1a>=A?$ 1JK?D2E?AA1<1$ L1>ZMN=$ E$
L>=YMAF@AB?$ F$ EBa1MAB?$ MAFP$ =$ 2=NH?$ L>F$ L>1E?M?AFF$I=DD1EBa$I?>1L>FZ2FC$ e<>=cFN$ A?D?AFZ$ M?HO>D2E$ @G?A=IF$
A=>1MA1C$M>OHFAB$>=Y>=J=2BE=?2DZ$F$O2E?>HM=?2DZ$`%$`#'$&1DDFF$«+=>?@ABC»$A=$L1D21ZAA1C$1DA1E?\4$;>=E1E1?$
FAc1>IF>1E=AF?$A=D?G?AFZ$L1$D>?MD2E=I$(`m4

"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$3 �6$�$33PTR
%d?AN=$:$S4$;>F?IG?IBC$O>1E?AU$scc?N2FEA1D2F$

IOAFdFL=GUA1C$L>1<>=IIB4
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;1GA1?$
cFA=ADF>1E=AF?

.FYN=Z$>?YOGU2=2FEA1D2U$
eDOK?D2E?AA1?$

L?>?EBL1GA?AF?$LG=A=\

#1YI1H?A$L?>?DI12>$IOAFdFL=GUA1C$L>1<>=IIB$E$@=D2F$
FYI?A?AFZ$d?G?EBa$L1N=Y=2?G?CP$EBDE1J1HM?AFZ$>?DO>D1E$

F$L?>?A1D$Fa$A=$DG?MOXKF?$L?>F1MB$FGF$A=$M>O<F?$
IOAFdFL=GUAB?$L>1<>=IIB

EHG! W?,/S/859T,5P! 8<3;<5115! «l>393;/P! /! 8</<3=3839T03+5,/-! ,5! 4-<</43<//! ;3<3=.>3;3! 3><?;5!
@5<-A,:2»!,5!IHEFLIHIE!;3=:»

%2E?2D2E?AABC$Y=$FDL1GA?AF?$I?>1L>FZ2FC$L>1<>=IIB$�$Y=E?MOXKFC$12M?G1I$sN1G1<FF$F$L>F>1M1L1GUY1E=AFZ$
`)*$ %$+=>?@ABC$«"MIFAFD2>=2FEA1?$OL>=EG?AF?»4

#$6539$<1MO$E$>=IN=a$IOAFdFL=GUA1C$L>1<>=IIB$L>1E?M?AB$DG?MOXKF?$I?>1L>FZ2FZ[
34*@=D2F?$ M?2?C$ IG=MQ?<1$ QN1GUA1<1$ E1Y>=D2=$ eS$ NG=DD\$ E$ >?=GFY=dFF$ FA2?GG?N2O=GUA1C$ L>1<>=IIB$

«�N1)1G1J1N»]
64$*@=D2F?$e'%%�!$«)?M>»\$E$1JG=D2ABa$N1ANO>D=a$L1$>?=GFY=dFF$I?>1L>FZ2FC$L1$FDL1GUY1E=AFXP$1a>=A?$F$

1JOD2>1CD2EO$FD21@AFN1E$A?d?A2>=GFY1E=AA1<1$E1M1DA=JH?AFZ$A=$2?>>F21>FF$M4 =<=>N=
p4$*@=D2F?$e''*\$E$sN1G1<F@?DNFa$N1ANO>D=a$A=$2?>>F21>FF$ %$+=>?@ABC4

"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$5PR5 �6$�$5P8W
%d?AN=$:$64$*>1E?AU$scc?N2FEA1D2F$IOAFdFL=GUA1C$

L>1<>=IIB$AFH?$D>?MA?<14

.?L1GA1?$
cFA=ADF>1E=AF?

.FYN=Z$>?YOGU2=2FEA1D2U$
eDOK?D2E?AA1?$

L?>?EBL1GA?AF?$LG=A=\

{>?JO?2DZ$L>1E?M?AF?$J1G??$<GOJ1N1<1$=A=GFY=$L>F@FA$
12NG1A?AFC$12$LG=A1EBa$YA=@?AFC4$.?1Ja1MFI=$N1>>?N2F>1EN=$

IOAFdFL=GUA1C$L>1<>=IIB$E$@=D2F$L?>?DI12>=$d?G?EBa$
L1N=Y=2?G?C$F$cFA=ADF>1E=AFZ$E$Y=EFDFI1D2F$12$>?YOGU2=21E$

FDDG?M1E=AFZ$L>F@FA$12NG1A?AFC$12$LG=A=4

EEG!W?,/S/859T,5P!8<3;<5115!«X50+/4/-!5<Q/+,3;3!=-95!+!;3<3=.>31!3><?;-!@5<-A,:2»
%2E?2D2E?AABC$ Y=$ FDL1GA?AF?$ I?>1L>FZ2FC$ L>1<>=IIB$ �$ A=@=GUAFN$ =>aFEA1<1$ 12M?G=$ =MIFAFD2>=dFF$

<1>1MDN1<1$1N>O<=$+=>?@ABC4
#D?$L1I?K?AFZP$EBM?G?AAB?$MGZ$=>aFE=P$12>?I1A2F>1E=AB$E$L1GA1I$1Jq?I?$F$1DA=K?AB$1a>=AA1:L1H=>A1C$

DF<A=GFY=dF?C$F$DFD2?I1C$=E21I=2F@?DN1<1$L1H=>12OQ?AFZ4

"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$5P98 �6$�$3
%d?AN=$:$S4$;>F?IG?IBC$O>1E?AU$scc?N2FEA1D2F$

IOAFdFL=GUA1C$L>1<>=IIB

.?L1GA1?$
cFA=ADF>1E=AF?

#BD1N=Z$
>?YOGU2=2FEA1D2U

#1YI1H?A$L?>?DI12>$IOAFdFL=GUA1C$L>1<>=IIB$E$@=D2F$
EBDE1J1HM?AFZ$>?DO>D1E$F$L?>?A1D$Fa$A=$DG?MOXKF?$

L?>F1MB4

EIG!W?,/S/859T,5P!8<3;<5115!«X50+/4/-!1593;3!/!.<-=,-;3!8<-=8</,/154-9T.4+5!+!;3<3=.>31!3><?;-!
@5<-A,:2!=3!IHIE!;3=5»

%2E?2D2E?AABC$ Y=$ FDL1GA?AF?$ I?>1L>FZ2FC$ L>1<>=IIB$ �$ A=@=GUAFN$ 12M?G=$ sN1A1IFNF$ F$ D2>=2?<F@?DN1<1$
LG=AF>1E=AFZ$=MIFAFD2>=dFF$<1>1MDN1<1$1N>O<=$+=>?@ABC4

6345T46539$ Y=NGX@?A1$ (1<G=Q?AF?$ 1$ L>?M1D2=EG?AFF$ DOJDFMFF$ FY$ JXMH?2=$ <1>1MDN1<1$ 1N>O<=$ +=>?@ABC$
x1AMO$L1MM?>HNF$I=G1<1$L>?ML>FAFI=2?GUD2E=$ %$+=>?@ABC$A=$ >?=GFY=dFX$I?>1L>FZ2FC$L1$L1MM?>HN?$ DOJq?N21E$
I=G1<1$ F$ D>?MA?<1$ L>?ML>FAFI=2?GUD2E=P$ E$ D112E?2D2EFF$ D$ L1D2=A1EG?AF?I$ =MIFAFD2>=dFF$  %$ +=>?@ABC$ 12$
5W45846539$7$S9T:;$«%$L>?M1D2=EG?AFF$DOJDFMFF$FY$JXMH?2=$<1>1MDN1<1$1N>O<=$+=>?@ABC$x1AMO$L1MM?>HNF$I=G1<1$
L>?ML>FAFI=2?GUD2E=$ <1>1MDN1<1$ 1N>O<=$ +=>?@ABC$ A=$ >?=GFY=dFX$ I?>1L>FZ2FC$ L1$ L1MM?>HN?$ DOJq?N21E$ I=G1<1$ F$
D>?MA?<1$L>?ML>FAFI=2?GUD2E=»$x1AMO$L>?M1D2=EG?A=$DOJDFMFZ$E$>=YI?>?$93TP55$2BD4$>OJG?C4$

x1AM1I$ L1MM?>HNF$ I=G1<1$ L>?ML>FAFI=2?GUD2E=$  %$ +=>?@ABC$ 6S$ FXAZ$ 6539$ <1M=$ Y=NGX@?A1$ D1<G=Q?AF?$
7$ 6VS$ L1$ >?=GFY=dFF$ I?>1L>FZ2FZ$ «;>?M1D2=EG?AF?$ N1IL?AD=dFF$ @=D2F$ Y=2>=2$ DOJq?N2=I$ I=G1<1$ F$ D>?MA?<1$
L>?ML>FAFI=2?GUD2E=$ L1$ 1LG=2?$ Y=$ =>?AMO$L1I?K?AFC$ E$bFYA?D:mANOJ=21>?»$IOAFdFL=GUA1C$L>1<>=IIB$«&=YEF2F?$
I=G1<1$F$D>?MA?<1$L>?ML>FAFI=2?GUD2E=$E$<1>1MDN1I$1N>O<?$+=>?@ABC$M1$6563$<1M=»$D$OL>=EGZXK?C$N1IL=AF?C$�$%%%$
«{?aA1L=>N$399p»$A=$DOIIO$658P55$2BD4$>OJG?C$eLVL$73363$12$6S45T46539\4$%DE1?A1$M?A?HABa$D>?MD2E$A=$DOIIO$658P55$
2BD4$>OJG?CP$N1IL?AD=dFX$L1GO@FGF$S$DOJq?N2=$I=G1<1$F$D>?MA?<1$L>?ML>FAFI=2?GUD2E=$ %$+=>?@ABC4

(OJDFMFZ$ L1$ I?>1L>FZ2FX$ «%J?DL?@?AF?$ M?Z2?GUA1D2F$ x1AM=$ L1MM?>HNF$ I=G1<1$ L>?ML>FAFI=2?GUD2E=$
 %$ +=>?@ABC»$ 1DE1?A=$ E$ L1GA1I$ 1Jq?I?$ A=$ 1J?DL?@?AF?$ 2?NOK?C$ M?Z2?GUA1D2F$ x1AM=$ L1MM?>HNF$ I=G1<1$
L>?ML>FAFI=2?GUD2E=$<1>1MDN1<1$1N>O<=$+=>?@ABC$L1$>?=GFY=dFF$DG?MOXKFa$I?>1L>FZ2FC[$

:$c1>IF>1E=AF?$J=YB$M=AABa$FAE?D2FdF1AA1:L>FEG?N=2?GUABa$LG1K=M1N]
:$L>1L=<=AM=$F$L1LOGZ>FY=dFZ$L>?ML>FAFI=2?GUDN1C$M?Z2?GUA1D2F]
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:$1N=Y=AF?$N1ADOGU2=dF1AABa$ODGO<$DOJq?N2=I$I=G1<1$F$D>?MA?<1$L>?ML>FAFI=2?GUD2E=4

"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$3 �6$�$3P6R
%d?AN=$:$S4$;>F?IG?IBC$O>1E?AU$scc?N2FEA1D2F$

IOAFdFL=GUA1C$L>1<>=IIB

;1GA1?$
cFA=ADF>1E=AF?

(>?MAZZ$
>?YOGU2=2FEA1D2U$

eA?M1EBL1GA?AF?$LG=A=\

#1YI1H?A$L?>?DI12>$IOAFdFL=GUA1C$L>1<>=IIB$E$@=D2F$
EBDE1J1HM?AFZ$cFA=AD1EBa$>?DO>D1E$F$L?>?A1D$>?DO>D1E$A=$

DG?MOXKF?$L?>F1MB

13. W?,/S/859T,5P! 8<3;<5115! « 3=;343+>5! =3>?1-,43+! 4-<</43</59T,3;3! 895,/<3+5,/PB!
;<5=3.4<3/4-9T,3;3!03,/<3+5,/P!/!=3>?1-,45S//!83!895,/<3+>-!/!1-C-+5,/R!4-<</43</2!;3<3=.>3;3!3><?;5!
@5<-A,:2»!,5!IHEFLIHIE!;3=:»

%2E?2D2E?AABC$Y=$FDL1GA?AF?$I?>1L>FZ2FC$L>1<>=IIB$�$A=@=GUAFN$12M?G=$=>aF2?N2O>B$F$<>=M1D2>1F2?GUD2E=$
=MIFAFD2>=dFF$<1>1MDN1<1$1N>O<=$+=>?@ABC4

.=$ 6539$ <1M$ L>1?N2B$ LG=AF>1ENF$ 2?>>F21>FF$ A?$ Y=LG=AF>1E=AB4$ %2DO2D2EO?2$ 2?>>F21>FZ$ MGZ$ >=YEF2FZ$
N1ILG?NDA1<1$HFGFKA1<1$D2>1F2?GUD2E=4

"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$5PpW �6$�$5Ppp
%d?AN=$:$64$*>1E?AU$scc?N2FEA1D2F$IOAFdFL=GUA1C$

L>1<>=IIB$AFH?$D>?MA?<1

(OK?D2E?AA1?$
A?M1cFA=ADF>1E=AF?

.FYN=Z$>?YOGU2=2FEA1D2U$
eDOK?D2E?AA1?$

A?M1EBL1GA?AF?$LG=A=\

{>?JO?2DZ$L>1E?M?AF?$J1G??$<GOJ1N1<1$=A=GFY=$L>F@FA$
12NG1A?AFC$12$LG=A=4$.?1Ja1MFI=$N1>>?N2F>1EN=$

`OAFdFL=GUA1C$L>1<>=IIB$E$@=D2F$L?>?DI12>=$d?G?EBa$
L1N=Y=2?G?C$F$cFA=ADF>1E=AFZ$E$Y=EFDFI1D2F$12$

>?YOGU2=21E$FDDG?M1E=AFZ$L>F@FA$12NG1A?AFC$12$LG=A=4$
,DGF$N1>>?N2F>1EN=$A?E1YI1HA=P$21$d?G?D11J>=YA1$

L1D2=EF2U$E1L>1D$1$M1D>1@A1I$L>?N>=K?AFF$IOAFdFL=GUA1C$
L>1<>=IIB4

14. W?,/S/859T,5P! 8<3;<5115! «Y8<5+9-,/-! 1?,/S/859T,:1! /1?7-.4+31! ;3<3=.>3;3! 3><?;5!
@5<-A,:2»!,5!IHEFLIHII!;3=:»

%2E?2D2E?AABC$ Y=$ FDL1GA?AF?$ I?>1L>FZ2FC$ L>1<>=IIB$ �$ A=@=GUAFN$ 12M?G=$ IOAFdFL=GUA1<1$ FIOK?D2E=$
=MIFAFD2>=dFF$<1>1MDN1<1$1N>O<=$+=>?@ABC4

#$6539$<1MO$M1GZ$IOAFdFL=GUA1<1$FIOK?D2E=P$ENGX@?AA1<1$E$sG?N2>1AABC$&??D2>$IOAFdFL=GUA1<1$FIOK?D2E=$
<1>1MDN1<1$1N>O<=$+=>?@ABC$D1D2=EFG=$355�4

'1GZ$ 1Jq?N21E$ A?MEFHFI1<1$ FIOK?D2E=P$ A=a1MZK?<1DZ$ E$ IOAFdFL=GUA1C$ D1JD2E?AA1D2F$ <1>1MDN1<1$ 1N>O<=$
+=>?@ABCP$E$12A1Q?AFF$N121>Ba$1DOK?D2EG?A=$<1DOM=>D2E?AA=Z$>?<FD2>=dFZ$L>=E$D1D2=EFG=$R8�4

;G=A$L1D2OLG?AFC$M1a1M1E$E$JXMH?2$<1>1MDN1<1$1N>O<=$+=>?@ABC$12$FDL1GUY1E=AFZ$F$L>1M=HF$IOAFdFL=GUA1<1$
FIOK?D2E=$L?>?EBL1GA?A$A=$359PT�4

"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$5PW9 �6$�$3P56
%d?AN=$:$S4$;>F?IG?IBC$O>1E?AU$scc?N2FEA1D2F$

IOAFdFL=GUA1C$L>1<>=IIB

.?L1GA1?$
cFA=ADF>1E=AF?

#BD1N=Z$
>?YOGU2=2FEA1D2U

#1YI1H?A$L?>?DI12>$IOAFdFL=GUA1C$L>1<>=IIB$E$@=D2F$
EBDE1J1HM?AFZ$>?DO>D1E$F$L?>?A1D$Fa$A=$DG?MOXKF?$L?>F1MB$

FGF$A=$M>O<F?$IOAFdFL=GUAB?$L>1<>=IIB

15. W?,/S/859T,5P!8<3;<5115!«X-59/05S/P!1393=-C,32!839/4/>/!/!854</34/A-.>3;3!+3.8/45,/P!
;<5C=5,!+!;3<3=.>31!3><?;-!@5<-A,:2!=3!IHI^!;3=5»

%2E?2D2E?AABC$Y=$FDL1GA?AF?$I?>1L>FZ2FC$L>1<>=IIB$�$A=@=GUAFN$`)*$«*)($F$`;$ %$+=>?@ABC»4
#$ 6539$ <1MO$ '1GZ$ I1G1MBa$ <>=HM=A$ E$ E1Y>=D2?$ 12$ 3S$ M1$ p5$ G?2P$ >?<OGZ>A1$ O@=D2EOXKFa$ E$ M?Z2?GUA1D2F$

1JK?D2E?AABa$ 1Jq?MFA?AFCP$ >=YGF@ABa$ c1>I=a$ 1JK?D2E?AA1<1$ D=I1OL>=EG?AFZP$ 12$ 1JK?C$ @FDG?AA1D2F$ I1G1MBa$
<>=HM=A$E$E1Y>=D2?$12$3S$M1$p5$G?2$D1D2=EFG=$pSP3�4

'1GZ$I1G1M?HFP$L>FAZEQ?C$O@=D2F?$E$I?>1L>FZ2FZa$L1$L>F1>F2?2ABI$A=L>=EG?AFZI$I1G1M?HA1C$L1GF2FNFP$12$
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1JK?<1$N1GF@?D2E=$I1G1M?HF$D1D2=EFG=$S8�4
'1GZ$<>=HM=AP$O@=D2EOXKFa$E$M1J>1E1GU@?DN1C$eE1G1A2?>DN1C\$M?Z2?GUA1D2F$N$1JK?IO$N1GF@?D2EO$A=D?G?AFZ$

(E?>MG1EDN1C$1JG=D2F$D1D2=EFG=$p�4

"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$5P99 �6$�$3
%d?AN=$:$84$#BD1NFC$O>1E?AU$scc?N2FEA1D2F$IOAFdFL=GUA1C$

L>1<>=IIB

;1GA1?$
cFA=ADF>1E=AF?

#BD1N=Z$
>?YOGU2=2FEA1D2U

16. W?,/S/859T,5P!8<3;<5115!« 3+:Z-,/-!6-0385.,3.4/!=3<3C,3;3!=+/C-,/P!,5!4-<</43<//!
;3<3=.>3;3!3><?;5!@5<-A,:2»

%2E?2D2E?AABC$ Y=$ FDL1GA?AF?$ I?>1L>FZ2FC$ L>1<>=IIB$ �$ A=@=GUAFN$ 12M?G=$ IOAFdFL=GUA1<1$ a1YZCD2E=$
=MIFAFD2>=dFF$<1>1MDN1<1$1N>O<=$+=>?@ABC4

"A=GFY$ D1D21ZAFZ$ >=J12B$ L1$ L>1cFG=N2FN?$ =E=>FCA1D2F$ A=$ =E21I1212>=ADL1>2?$ A=$ 2?>>F21>FF$ <1>1MDN1<1$
1N>O<=$?H?NE=>2=GUA1$>=DDI=2>FE=?2DZ$A=$Y=D?M=AFZa$N1IFDDFF$L1$E1L>1D=I$J?Y1L=DA1D2F$M1>1HA1<1$MEFH?AFZ4$

;1DG?$ L>1E?M?AFZ$ A=$ 2?>>F21>FF$ <1>1MDN1<1$ 1N>O<=$ I?>1L>FZ2FC$ L1$ J?Y1L=DA1D2F$ M1>1HA1<1$ MEFH?AFZ$
2?I=2F@?DNF?$ I=2?>F=GB$ L1$ J?Y1L=DA1D2F$ M1>1HA1<1$ MEFH?AFZ$ A=$ L1D21ZAA1C$ 1DA1E?$ >=YI?K=X2DZ$ E$ (`mP$ A=$
1cFdF=GUA1I$D=C2?$<1>1MDN1<1$1N>O<=4

{?I=2F@?DNF?$I=2?>F=GB$L1$J?Y1L=DA1D2F$M1>1HA1<1$MEFH?AFZ$A=$L1D21ZAA1C$1DA1E?$>=YI?K=X2DZ$E$(`mP$A=$
1cFdF=GUA1I$D=C2?$<1>1MDN1<1$1N>O<=4

%2N>B2F?$ F$ 1><=AFY=dFZ$ >?<OGZ>ABa$ =E21JODABa$ L?>?E1Y1N$ M?2?CP$ E$ 21I$ @FDG?$ 1JDG?M1E=AF?$ I=>Q>O21EP$
L>1FYE1MF2DZ$ E$ D112E?2D2EFF$ D$ 2>?J1E=AFZIFP$ 1L>?M?GZ?IBIF$;>=EFG=IF$ 1><=AFY=dFF$ L=DD=HF>DNFa$ L?>?E1Y1N$ A=$
=E21I1JFGUA1I$2>=ADL1>2?$F$;1G1H?AF?I$1J$1J?DL?@?AFF$J?Y1L=DA1D2F$L?>?E1Y1N$L=DD=HF>1E$=E21JOD=IF4$`=>Q>O2B$
L?>?E1Y1N$ OD2=A1EG?AB$ 21GUN1$ 2=IP$ <M?$ M1>1HAB?$ ODG1EFZ$ 1J?DL?@FE=X2$ J?Y1L=DA1D2U$ L?>?E1Y1N$ L=DD=HF>1E4$
&?<OGZ>A1?$=E21JODA1?$MEFH?AF?$1><=AFY1E=A1$A=$=E21I1JFGUABa$M1>1<=a$v:v�$N=2?<1>FF4

"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$5P3T �6$�$3
%d?AN=$:$64$*>1E?AU$scc?N2FEA1D2F$IOAFdFL=GUA1C$

L>1<>=IIB$AFH?$D>?MA?<1

;1GA1?$
cFA=ADF>1E=AF?

#BD1N=Z$
>?YOGU2=2FEA1D2U

.?N1>>?N2A1$DLG=AF>1E=A$1Jq?I$cFA=ADF>1E=AFZ4
.?1Ja1MFI$L?>?DI12>$IOAFdFL=GUA1C$L>1<>=IIB$E$@=D2F$
OI?AUQ?AFZ$L>?MODI12>?AA1<1$E$DG?MOXKFa$L?>F1M=a$
cFA=ADF>1E=AFZ$FVFGF$D1N>=K?AFZ$D>1N=$>?=GFY=dFF$
IOAFdFL=GUA1C$L>1<>=IIBP$N1>>?N2F>1ENF$L?>?@AZ$

L>1<>=IIABa$I?>1L>FZ2FCP$1L2FIFY=dFF$DFD2?IB$OL>=EG?AFZ

17. W?,/S/859T,5P! 8<3;<5115! «Y.432A/+3-! <50+/4/-! .-9T.>/Q! 4-<</43</2! ;3<3=.>3;3! 3><?;5!
@5<-A,:2!#+-<=93+.>32!3695.4/!,5!IHEF!L!IHIH!;3=:»

%2E?2D2E?AABC$ Y=$ FDL1GA?AF?$ I?>1L>FZ2FC$ L>1<>=IIB$ �$ A=@=GUAFN$ 12M?G=$ O@�2=$ F$ >=DL>?M?G?AFZ$ HFGUZ$
=MIFAFD2>=dFF$<1>1MDN1<1$1N>O<=$+=>?@ABC4

lFGU?$I1G1MBIF$DL?dF=GFD2=IF$L1GO@?A1$E$653W$<1MO4$.=$6539$<1M$Y=ZE1N$A?$L1D2OL=G14

18. W?,/S/859T,5P! 8<3;<5115! «X50+/4/-! >5=<3+32! 839/4/>/! +! ./.4-1-! 1?,/S/859T,3;3!
?8<5+9-,/P!;3<3=.>3;3!3><?;5!@5<-A,:2!,5!IHEFLIHIE!;3=:»

%2E?2D2E?AABC$ Y=$ FDL1GA?AF?$ I?>1L>FZ2FC$ L>1<>=IIB$ �$ OL>=EGZXKFC$ M?G=IF$ =MIFAFD2>=dFF$ <1>1MDN1<1$
1N>O<=$+=>?@ABC4

'1GZ$ A1>I=2FEABa$ =N21E$ <1>1MDN1<1$ 1N>O<=$ +=>?@ABCP$ L>FAZ2F?$ N121>Ba$ L>?MODI12>?A1$ c?M?>=GUABI$
Y=N1A1M=2?GUD2E1I$1$IOAFdFL=GUA1C$DGOHJ?P$L>FAZ2Ba$E$<1>1MDN1I$1N>O<?$+=>?@ABCP$12$1JK?<1$N1GF@?D2E=$A1>I=2FEABa$
=N21EP$L>?MODI12>?AABa$N$L>FAZ2FXP$D1D2=EGZ?2$355�4

'1GZ$1><=A1E$I?D2A1<1$D=I1OL>=EG?AFZ$<1>1MDN1<1$1N>O<=$+=>?@ABCP$L>?MD2=EF2?GF$N121>Ba$L>FAZGF$O@=D2F?$
E$D?IFA=>=a$D$12M?GUABIF$N=2?<1>FZIF$IOAFdFL=GUABa$DGOH=KFaP$E$21I$@FDG?$D$>ON1E1MF2?GZIF$F$DL?dF=GFD2=IF$
N=M>1EBa$DGOHJP$12$1JK?<1$N1GF@?D2E=$1><=A1E$I?D2A1<1$D=I1OL>=EG?AFZ$<1>1MDN1<1$1N>O<=$+=>?@ABC$2=NH?$D1D2=EGZ?2$
355�4
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"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$
IOAFdFL=GUA1C$L>1<>=IIB

�3$�$5PR3 �6$�$3
%d?AN=$:$S4$;>F?IG?IBC$O>1E?AU$scc?N2FEA1D2F$

IOAFdFL=GUA1C$L>1<>=IIB

.?L1GA1?$
cFA=ADF>1E=AF?

#BD1N=Z$
>?YOGU2=2FEA1D2U

#1YI1H?A$L?>?DI12>$IOAFdFL=GUA1C$L>1<>=IIB$
E$@=D2F$EBDE1J1HM?AFZ$>?DO>D1E$F$L?>?A1D$
Fa$A=$DG?MOXKF?$L?>F1MB$FGF$A=$M>O<F?$

IOAFdFL=GUAB?$L>1<>=IIB

19. W?,/S/859T,5P! 8<3;<5115! « <-=3.45+9-,/-! <-;/3,59T,32! 83==-<C>/! 1393=:1! .-1TP1! ,5!
?9?AZ-,/-!C/9/7,:Q!?.93+/2!,5!4-<</43<//!;3<3=.>3;3!3><?;5!@5<-A,:2!=3!IHIH!;3=5»

%2E?2D2E?AABC$ Y=$ FDL1GA?AF?$ I?>1L>FZ2FC$ L>1<>=IIB$ �$ A=@=GUAFN$ 12M?G=$ O@�2=$ F$ >=DL>?M?G?AFZ$ HFGUZ$
=MIFAFD2>=dFF$<1>1MDN1<1$1N>O<=$+=>?@ABC4

#$2?@?AF?$6539$<1M=$cFA=ADF>1E=AF?$A=$EBL1GA?AF?$I?>1L>FZ2FC$IOAFdFL=GUA1C$L>1<>=IIB$A?$L1D2OL=G14
20. W?,/S/859T,5P! 8<3;<5115! «f3<1/<3+5,/-! .3+<-1-,,32! ;3<3=.>32! .<-=:! ,5! 4-<</43<//!

;3<3=.>3;3!3><?;5!@5<-A,:2!,5!IHEJ!L!IHI^!;3=:»
%2E?2D2E?AABC$ Y=$ FDL1GA?AF?$ I?>1L>FZ2FC$ L>1<>=IIB$ �$ A=@=GUAFN$ 12M?G=$ IOAFdFL=GUA1<1$ a1YZCD2E=$

=MIFAFD2>=dFF$<1>1MDN1<1$1N>O<=$+=>?@ABC4
#$6539$<1MO$EBL1GA?A1$N1ILG?NDA1?$JG=<1OD2>1CD2E1$A=J?>?HA1C$b?G1Z>DN1<1$E1M1a>=AFGFK=4
'E1>1EB?$2?>>F21>FF$JG=<1OD2>1?AB4$*>1E?AU$JG=<1OD2>1CD2E=$:$W5�4$#$>=IN=a$IOAFdFL=GUA1C$L>1<>=IIB$

«&=YEF2F?$ HFGFKA1:N1IIOA=GUA1<1$ a1YZCD2E=$ F$ L1EBQ?AF?$ sA?><?2F@?DN1C$ scc?N2FEA1D2F$ <1>1MDN1<1$ 1N>O<=$
+=>?@ABC$M1$6566$<1M=»$E$G?2AFC$L?>F1M$L>1E?M?A$>?I1A2$M?2DNFa$LG1K=M1N4

#$6539$<1MO$Y=I?AFGF$R$GFc21E4$mYA=@=GUA1$Y=ZEN=$L1M=E=G=DU$E$`FA4$l)�$A=$Y=I?AO$9$GFc21EP$12J1>$L>1QGF$
T4$#$M1L1GAF2?GUA1I$12J1>?$L>1Q?G$?K?$3$GFc24

"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$5P9T �6$�$5PTp
%d?AN=$:$64$*>1E?AU$scc?N2FEA1D2F$IOAFdFL=GUA1C$

L>1<>=IIB$AFH?$D>?MA?<1

.?L1GA1?$
cFA=ADF>1E=AF?

.FYN=Z$>?YOGU2=2FEA1D2U$
eDOK?D2E?AA1?$

A?M1EBL1GA?AF?$LG=A=\

.?1Ja1MFI$J1G??$<GOJ1NFC$=A=GFY$L>F@FA$12NG1A?AFZ$12$
LG=A1EBa$YA=@?AFC4$#1YI1H?A$L?>?DI12>$IOAFdFL=GUA1C$
L>1<>=IIB$E$@=D2F$N1>>?N2F>1ENF$d?G?EBa$L1N=Y=2?G?CP$
EBM?G?AFZ$M1L1GAF2?GUA1<1$cFA=ADF>1E=AFZ4$,DGF$

N1>>?N2F>1EN=$A?E1YI1HA=P$$21$d?G?D11J>=YA1$L1D2=EF2U$
E1L>1D$1$M1D>1@A1I$L>?N>=K?AFF$IOAFdFL=GUA1C$L>1<>=IIB

21. W?,/S/859T,5P! 8<3;<5115! « <3U/95>4/>5! 4-<<3</015B! 1/,/1/05S/P! /! j/9/k! 9/>+/=5S/P!
83.9-=.4+/2!-;3!8<3P+9-,/2!,5!IHEJ!L!IHII!;3=:»

%2E?2D2E?AABC$ Y=$ FDL1GA?AF?$I?>1L>FZ2FC$L>1<>=IIB$�$A=@=GUAFN$`)*$ %!+=>?@ABC$«*L>=EG?AF?$ %$F$
-(»4

'GZ$ M1D2FH?AFZ$ L1D2=EG?AABa$ Y=M=@P$ L>?MODI12>?AABa$ IOAFdFL=GUA1C$ L>1<>=II1C$ L1$ FAc1>I=dF1AA1:
L>1L=<=AMFD2DN1IO$ D1L>1E1HM?AFX$F$I?21MF@?DN1IO$ 1J?DL?@?AFX$L>1cFG=N2FNF$ 2?>>1>FYI=P$ 1DOK?D2EG?AFX$I?>P$
A=L>=EG?AABa$A=$ON>?LG?AF?$I?HA=dF1A=GUA1<1$F$I?HN1Ac?DDF1A=GUA1<1$D1<G=DFZP$ON>?LG?AF?$=A2F2?>>1>FD2F@?DN1C$
Y=KFK?AA1D2F$1Jq?N21EP$A=a1MZKFaDZ$E$IOAFdFL=GUA1C$D1JD2E?AA1D2F$FGF$E$E?M?AFF$1><=A1E$I?D2A1<1$D=I1OL>=EG?AFZP$
E$6539$<1MO$EBL1GA?AB$DG?MOXKF?$I?>1L>FZ2FZ[

1. ;>F1J>?2?AB$35$I1JFGUABa$OD2>1CD2E$Y=KF2B$L>1?YM=$«b1GG=>M:W55»4
2. #BL1GA?AB$ >=J12B$ L1$ 2?aAF@?DN1IO$ 1JDGOHFE=AFX$ =E21A1IA1C$ DFD2?IB$ 1L1E?K?AFZ$ L>F$

@>?YEB@=CA1C$DF2O=dFF$OGF@A1C$2?>>F21>FF4
3. mY<121EG?AB$F$>=DL>1D2>=A?AB$D>?MF$O@=KFaDZ$1J>=Y1E=2?GUABa$O@>?HM?AFC$ %$+=>?@ABC$L=IZ2NF$

«b?Y1L=DA1D2U$QN1GUAFN=»$F$J>1QX>B$«;>12FE1M?CD2EF?$FM?1G1<FF$2?>>1>FYI=$E$D?2F$«mA2?>A?2»4

"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$5PRT �6$�$3
%d?AN=$:$S4$;>F?IG?IBC$O>1E?AU$scc?N2FEA1D2F$

IOAFdFL=GUA1C$L>1<>=IIB

.?L1GA1?$
cFA=ADF>1E=AF?

#BD1N=Z$
>?YOGU2=2FEA1D2U

#1YI1H?A$L?>?DI12>$IOAFdFL=GUA1C$L>1<>=IIB$E$@=D2F$
EBDE1J1HM?AFZ$>?DO>D1E$F$L?>?A1D$Fa$A=$DG?MOXKF?$L?>F1MB$

FGF$A=$M>O<F?$IOAFdFL=GUAB?$L>1<>=IIB
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22. W?,/S/859T,5P! 8<3;<5115! « 3.4<3-,/-! j<50+/4/-k! 5885<54,3L8<3;<511,3;3! >3189->.5!
«6-0385.,:2!;3<3=»!,5!IHEF!�!IHII!;3=:

%2E?2D2E?AABC$Y=$FDL1GA?AF?$I?>1L>FZ2FC$L>1<>=IIB$�$A=@=GUAFN$̀ )*$ %!+=>?@ABC$«*L>=EG?AF?$ %$F$-(»4
'GZ$M1D2FH?AFZ$L1D2=EG?AABa$Y=M=@P$L>?MODI12>?AABa$IOAFdFL=GUA1C$L>1<>=II1C$L1$1J?DL?@?AFX$Y=KF2B$

A=D?G?AFZ$ F$ 2?>>F21>FC$ 12$-($L>F>1MA1<1$ F$ 2?aA1<?AA1<1$ a=>=N2?>=P$ 1JK?D2E?AA1C$ J?Y1L=DA1D2FP$ L>=E1L1>ZMN=$ F$
J?Y1L=DA1D2F$D>?MB$1JF2=AFZP$E$6539$<1MO$EBL1GA?AB$DG?MOXKF?$I?>1L>FZ2FZ[

1. 'GZ$ I1AF21>FA<=$ EFM?1=A=GFY=P$ L>?MOL>?HM?AFZ$ F$ L>1cFG=N2FNF$ L>=E1A=>OQ?AFCP$ E$ ,''($  %$
+=>?@ABC$OD2=A1EG?A$D?>E?>$a>=A?AFZ$M=AABa$F$L>1FYE?M?AB$>=J12B$L1$EBE1MO$F$D1a>=A?AFX$FAc1>I=dFF$A=$D?>E?>$D$
N=I?>$EFM?1A=JGXM?AFZ$IOAFdFL=GUABa$1Jq?N21E$ %$+=>?@ABC4

2. #BL1GA?AB$>=J12B$L1$2?aAF@?DN1IO$1JDGOHFE=AFX$F$L1MM?>H=AFX$cOANdF1AF>1E=AFZ$N=A=G1E$DEZYF$
DFD2?IB$EFM?1A=JGXM?AFZ4

"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$3 �6$�$3
%d?AN=$:$84$#BD1NFC$O>1E?AU$scc?N2FEA1D2F$IOAFdFL=GUA1C$

L>1<>=IIB
;1GA1?$

cFA=ADF>1E=AF?

#BD1N=Z$
>?YOGU2=2FEA1D2U

$

23. W?,/S/859T,5P!8<3;<5115!«"!8<34/+3=-2.4+//!>3<<?8S//!+!;3<3=.>31!3><?;-!@5<-A,:2»!,5!
IHEF!L!IHIH!;3=:

%2E?2D2E?AABC$Y=$FDL1GA?AF?$I?>1L>FZ2FC$L>1<>=IIB$�$A=@=GUAFN$1><=AFY=dF1AA1<1$12M?G=$=MIFAFD2>=dFF$
<1>1MDN1<1$1N>O<=$+=>?@ABC4

#$2?@?AF?$6539$<1M=$D1D21ZG1DU$p$Y=D?M=AFZ$)1IFDDFF$L1$N11>MFA=dFF$>=J12B$L1$L>12FE1M?CD2EFX$N1>>OLdFFP$
E1L>1DB$1J$FDL1GA?AFF$;G=A=$I?>1L>FZ2FC$>=DDI=2>FE=GFDU$A=$)1IFDDFF$9$>=Y4

mAc1>I=dFZ$ 1$ EBL1GA?AFF$ =A2FN1>>OLdF1AABa$ I?>1L>FZ2FC$ ?H?NE=>2=GUA1$ Y=E1MF2DZ$ E$ "(*$ m% #$
(E?>MG1EDN1C$1JG=D2F4

;1$ 3WR$ L>1?N2=I$ IOAFdFL=GUABa$ A1>I=2FEABa$ L>=E1EBa$ =N21E$ =MIFAFD2>=dFFP$ 'OIB$ <1>1MDN1<1$ 1N>O<=$
L>1E?M?A=$=A2FN1>>OLdF1AA=Z$sNDL?>2FY=4
.=L>=EGZGFDU$LFDUI=$D$Y=L>1D1I$E$A=G1<1EOX$DGOHJO$F$ mb''$1$L>1E?M?AFF$L>1E?>1N$DE?M?AFC$1$M1a1M=a$F$>=Da1M=a$
IOAFdFL=GUABa$ DGOH=KFa4$ #$ D1D2=E$ )1IFDDFF$ L1$ N11>MFA=dFF$ >=J12B$ L1$ L>12FE1M?CD2EFX$ N1>>OLdFF$ ENGX@?A$
L>?MD2=EF2?GU$`%$`#'$&x$«+=>?@ABC»$F$A=G1<1E1C$DGOHJB4$.=$Y=D?M=AFZ$)1IFDDFF$L>F<G=Q=X2DZ$L>?MD2=EF2?GF$
b?G1Z>DN1C$I?H>=C1AA1C$L>1NO>=2O>B4

;>1E1MFGDZ$N1A2>1GU$Y=$A=MG?H=KFI$FDL1GUY1E=AF?I$IOAFdFL=GUA1<1$FIOK?D2E=$<1>1MDN1<1$1N>O<=$+=>?@ABCP$
L?>?M=AA1<1$E$ =>?AMO$ e6R$1Jq?N21E\P$a1YZCD2E?AA1?$E?M?AF?$F$1L?>=2FEA1?$OL>=EG?AF?$1DOK?D2EGZ?2DZ$E$>?YOGU2=2?$
L>1E1MFIBa$L>1E?>1N4$

;>1E?M?A1$ 69$ LOJGF@ABa$ DGOQ=AFCP$ L>?MODI12>?AA1?$ <>=M1D2>1F2?GUABI$ F$ Y?I?GUABI$ Y=N1A1M=2?GUD2E1I$
&xP$L>F$>=DDI12>?AFF$E1L>1D1E$1$L>?M1D2=EG?AFF$Y?I?GUABa$O@=D2N1EP$A=a1MZKFaDZ$E$IOAFdFL=GUA1C$D1JD2E?AA1D2F4$

"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$5 �6$�$3P59
%d?AN=$:$64$*>1E?AU$scc?N2FEA1D2F$IOAFdFL=GUA1C$

L>1<>=IIB$AFH?$D>?MA?<1

(OK?D2E?AA1?$
A?M1cFA=ADF>1E=AF?

(>?MAZZ$
>?YOGU2=2FEA1D2U

eL>?EBQ?AF?$LG=A=\

.?N1>>?N2A1$DLG=AF>1E=A$1Jq?I$cFA=ADF>1E=AFZ$F$M=AB$
L>1<A1YB$YA=@?AFC$d?G?EBa$L1N=Y=2?G?C4$.?1Ja1MFI$

L?>?DI12>$IOAFdFL=GUA1C$L>1<>=IIB$E$@=D2F$
OI?AUQ?AFZ$cFA=ADF>1E=AFZ$F$N1>>?N2F>1ENF

d?G?EBa$L1N=Y=2?G?C

24. W?,/S/859T,5P! 8<3;<5115! « <3U/95>4/>5! ,5<>315,//! /! 8<34/+3=-2.4+/-! ,-05>3,,31?!
363<34?!,5<>34/>3+!,5!4-<</43<//!;3<3=.>3;3!3><?;5!@5<-A,:2!,5!IHEF!L!IHIH!;3=:»

%2E?2D2E?AABC$Y=$FDL1GA?AF?$I?>1L>FZ2FC$L>1<>=IIB$�$A=@=GUAFN$1><=AFY=dF1AA1<1$12M?G=$=MIFAFD2>=dFF$
<1>1MDN1<1$1N>O<=$+=>?@ABC4

#$ 2?@?AF?$ 6539$ <1M=$ 1JK?1J>=Y1E=2?GUABIF$ 1><=AFY=dFZIF$  %$ +=>?@ABC$ L>1E1MFG=DU$ L>1cFG=N2F@?DN=Z$
>=J12=$D$>1MF2?GZIF$F$1JO@=XKFIFDZ4$.=$D2?AM=a$F$D=C2=a$1J>=Y1E=2?GUABa$1><=AFY=dFC$>=YI?K?AB$EDZ$A?1Ja1MFI=Z$
FAc1>I=dFZ$ 1$ 2?G?c1A=a$ M1E?>FZP$ =$ 2=NH?$ DGOHJ$ F$ O@>?HM?AFC$ A=$ L>1a1HM?AF?$ N1ADOGU2=dFC$ LDFa1G1<F@?DN1C$ F$
I?MFdFADN1C$L1I1KF4

#$N=HM1C$1J>=Y1E=2?GUA1C$1><=AFY=dFF$<1>1MDN1<1$1N>O<=$+=>?@ABC$>=Y>=J12=AB$F$O2E?>HM?AB$L>1<>=IIB$L1$
L>1cFG=N2FN?$A=>N12F@?DN1C$Y=EFDFI1D2F$F$c1>IF>1E=AFX$YM1>1E1<1$1J>=Y=$HFYAF$D>?MF$M?2?C$F$L1M>1D2N1E4

#$FXA?$6539$ <1M=$A=$ 2?>>F21>FF$IOAFdFL=GF2?2=$L>1E?M?A$I?DZ@AFN$=A2FA=>N12F@?DN1C$A=L>=EG?AA1D2F$F$
L1LOGZ>FY=dFF$YM1>1E1<1$1J>=Y=$HFYAF4
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"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$5 �6$�$3Pp6
%d?AN=$:$p4$(>?MAFC$O>1E?AU$scc?N2FEA1D2F$

IOAFdFL=GUA1C$L>1<>=IIB

(OK?D2E?AA1?$
A?M1cFA=ADF>1E=AF?

.FYN=Z$>?YOGU2=2FEA1D2U
eDOK?D2E?AA1?$

L?>?EBL1GA?AF?$$LG=A=\

.?N1>>?N2A1$DLG=AF>1E=A$1Jq?I$cFA=ADF>1E=AFZ4$
.?1Ja1MFI$L?>?DI12>$IOAFdFL=GUA1C$L>1<>=IIB$E$

@=D2F$N1>>?N2F>1ENF$d?G?EBa$L1N=Y=2?G?CP$D1N>=K?AFZ$
1Jq?I=$cFA=ADF>1E=AFZP$D1N>=K?AFZ$D>1N=$>?=GFY=dFF

IOAFdFL=GUA1C$L>1<>=IIBP$N1>>?N2F>1ENF$LG=A=$
I?>1L>FZ2FCP$1L2FIFY=dFF$DFD2?IB$OL>=EG?AFZ

25. W?,/S/859T,5P! 8<3;<5115! «\3189->.,:-! 1-<:! 83! 3;<5,/A-,/R! <5.8<3.4<5,-,/P! '*dL
/,U->S//!,5!4-<</43<//!;3<3=.>3;3!3><?;5!@5<-A,:2»!,5!IHEFLIHIH!;3=:

%2E?2D2E?AABC$Y=$FDL1GA?AF?$I?>1L>FZ2FC$L>1<>=IIB$�$A=@=GUAFN$1><=AFY=dF1AA1<1$12M?G=$=MIFAFD2>=dFF$
<1>1MDN1<1$1N>O<=$+=>?@ABC4

#D?$ L>1E1MFIB?$ I?>1L>FZ2FZ$ >?<OGZ>A1$ 1DE?K=X2DZ$ E$ (`m$ e«;Z2AFd=$ �$ L>1»P$ «+=>?@?ADN=Z$ Z>I=>N=»P$
«!XJFIBC$<1>1M»\$F$A=$D=C2?$=MIFAFD2>=dFF$<1>1MDN1<1$1N>O<=$+=>?@ABCP$=$2=NH?$A=$D=C2=a$O@>?HM?AFC$NOGU2O>B$F$
1J>=Y1E=AFZP$D1dF=GUABa$D?2Za4${=NH?$A=$D=C2=a$>=YI?K=X2DZ$L=IZ2NF$F$EFM?1>1GFNFP$E$O@>?HM?AFZa$1c1>IGZX2DZ$
FAc1>I=dF1AAB?$D2?AMB4

.=$ 2?>>F21>FF$ IOAFdFL=GF2?2=$ >?<OGZ>A1$ L>1E1MZ2DZ$ FA2?GG?N2O=GUAB?$ F$ >=YEG?N=2?GUAB?P$ E1?AA1:
DL1>2FEAB?$F<>BP$N1Ad?>2BP$J?D?MBP$G?NdFFP$EBD2=ENFP$sNDNO>DFFP$I=D2?>:NG=DDBP$A=L>=EG?AAB?$A=$c1>IF>1E=AF?$O$
I1G1MBa$<>=HM=A$d?AA1D2?C$D?I?CA1<1$F$YM1>1E1<1$1J>=Y=$HFYAF4

)1GF@?D2E1$ 1><=AFY=dFC$ DFD2?IB$ L>1cFG=N2FNFP$ E$ N121>Ba$ >?=GFYO?2DZ$ FAc1>I=dF1AA=Z$ N=IL=AFZ$ L1$
L>1cFG=N2FN?$#m-:FAc?NdFFP$1><=AFY1E=AB$FAc1>I=dF1AAB?$D2?AMB$�$634

($1JO@=XKFIFDZ$1J>=Y1E=2?GUABa$O@>?HM?AFC$L>1E?M?AB$1J>=Y1E=2?GUAB?P$DL1>2FEAB?$F$FAc1>I=dF1AAB?$
I?>1L>FZ2FZ$E$>=IN=a$?MFA1<1$O>1N=$L1$L>1cFG=N2FN?$#m-:FAc?NdFF4$

!?@?JA=Z$ F$ L>1cFG=N2F@?DN=Z$ >=J12=$ L>1E1MF2DZ$ 12M?G1I$ G?@?AFZ$ F$ L>1cFG=N2FNF$ #m-:FAc?NdFF$ E$  %$
+=>?@ABC$xb*+$`(-:p6$x`b"$&1DDFFP$=$2=NH?$DL?dF=GFD2=IF$ "*$«)|(%.$«+=J12=»$b?G1Z>DN1<1$>=C1A=4

(1YM=AB$F$>=YI?K?AB$FAc1>I=dF1AA1:L>1DE?2F2?GUDNF?$I=2?>F=GB$A=$D=C2?$xb*+$`(-$7$p6$x`b"$&1DDFF4

"S-,>5!gUU->4/+,3.4/!<-59/05S//!1?,/S/859T,32!8<3;<511:

%d?AN=$L1GA12B$
cFA=ADF>1E=AFZ

%d?AN=$M1D2FH?AFZ$
LG=A1EBa$YA=@?AFC$
d?G?EBa$L1N=Y=2?G?C

%d?AN=$scc?N2FEA1D2F$>?=GFY=dFF$IOAFdFL=GUA1C$
L>1<>=IIB

�3$�$5 �6$�$ppP9
%d?AN=$:$p4$(>?MAFC$O>1E?AU$scc?N2FEA1D2F$

IOAFdFL=GUA1C$L>1<>=IIB

(OK?D2E?AA1?$
A?M1cFA=ADF>1E=AF?

.FYN=Z$$>?YOGU2=2FEA1D2U$
eDOK?D2E?AA1?$

L?>?EBL1GA?AF?$LG=A=\

.?N1>>?N2A1$DLG=AF>1E=A$1Jq?I$cFA=ADF>1E=AFZ4$
.?1Ja1MFI$L?>?DI12>$IOAFdFL=GUA1C$L>1<>=IIB$E$

@=D2F$N1>>?N2F>1ENF$d?G?EBa$L1N=Y=2?G?CP$D1N>=K?AFZ$
1Jq?I=$cFA=ADF>1E=AFZP$D1N>=K?AFZ$D>1N=$>?=GFY=dFF

IOAFdFL=GUA1C$L>1<>=IIBP$N1>>?N2F>1ENF$LG=A=$
I?>1L>FZ2FCP$1L2FIFY=dFF$DFD2?IB$OL>=EG?AFZ

26. W?,/S/859T,5P! 8<3;<5115! «D5<13,/05S/P! 1-C,5S/3,59T,:Q! /! 1-C>3,U-../3,59T,:Q!
34,3Z-,/2B!8<3U/95>4/>5!g>.4<-1/015!,5!4-<</43<//!;3<3=.>3;3!3><?;5!@5<-A,:2»!,5!IHEF!L!IHI`!;3=:»

%2E?2D2E?AABC$Y=$FDL1GA?AF?$I?>1L>FZ2FC$L>1<>=IIB$�$Y=I?D2F2?GU$<G=EB$=MIFAFD2>=dFF$<1>1MDN1<1$1N>O<=$
+=>?@ABC$L1$D1dF=GUABI$E1L>1D=I4

mDL1GA?AF?$L>1<>=IIB$<=>I1AFY=dFF$I?HA=dF1A=GUABa$F$I?HN1Ac?DDF1A=GUABa$12A1Q?AFCP$L>1cFG=N2FNF$
sND2>?IFYI=$A=$2?>>F21>FF$<1>1MDN1<1$1N>O<=$+=>?@ABC$A=$653T:6565$<1MB$ED?IF$DOJq?N2=IF$L>1cFG=N2FNFP$=N2FEA1?$
E1EG?@?AF?$A=D?G?AFZ$E$L>1E?M?AF?$I=DD1EBa$NOGU2O>A1:M1DO<1EBa$F$DL1>2FEABa$I?>1L>FZ2FC$L1YE1GF2$D1a>=AF2U$
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